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FOFA A Bl st A+B=—x3-2x> +4x+5,2A-B =
43 = x> —x+1 € |, F o434 A, B & o1H?

D A=x4+x>4+x+2, B=-2x>-3x>+3x+3
@ A=x>-x24+x+2, B=-2x>-x24+3x+3
@ A=x3-x>4x-2, B=-2x3—x>+3x+7
@ A=x>-x>-x+2, B=-2x>-x>+5x+3

® A=3x>-3x24+3x+6, B=—-4x3+x2+x-1
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(x% = 2xy + 2y?) (X + 2xy + 2y%) = x4 o
N v2) = x* + 4yt

x+y-—1)(x2
+y?—x
y+2x+2y+1)=x34+y3-3
-3xy-1



4.  n*-6n* +259] ghol 2571 HA St A n ] NrE?

@ 14 @ 27) @ 474
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6. FAN{1+(a+b)?}x®-2(1-a-b)x+2=09 o] A5 o
a® + b —3ab 2] & FoHA ? (H, a, bE AF)

D1 @ -1 ® 2 @ -2 ® 0
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8.  P(x) = x*+x+1 ] thste] P(x6) & P(x) & te U A5 F5HH?

D x-4 @ 4x-1 @ 5
@ 4 ® 3



9. Ny, Na, N3, -+, Ng2= B5F ZAFO]IN; < Np < -+ < Ng,
N1+ Ny + N3 + -+ Ng = 80°]2} & o, Ng o] 2HZ2? (H,
Ny = 4)
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